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Sample Paper - 2007

Mathematics

Class - X
TNo:CBSE/P1
Nq: 10 (8+2)       MM:  30 (20+10)
Ta: 60Min
Dt. 06.01.07
Tc: Algebra
Section A:
2 marks


Q1
Find the  value of ‘p’ for the system of equation has no solution.
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OR

Draw the graph for system 2x-3=4, 3x-4y =5

Q2
If the G.C.D. of 
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 is x-4, Find the value of a and b.
Q3
 The sum of ‘p’ terms is q, sum of ‘q’ terms is p and sum of ‘r’ terms is p+q of an AP. Then prove that the ratio of common difference to first term is 
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Q4
Solve the equation of 
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Section B:
3 marks


Q5 
A pilot covers a distance of 800km. He could have saved 40 minutes by increasing the speed of the air bus by 40 km/hr. Find the speed of the air bus. 
         

Q6
Find if 50 is a term of the A.P. 4,7,10,13………... or not. If yes, find which term it is.

Or
Find the sum of first 30 terms of an AP of even natural numbers starting from 15 and divisible by 4.
Q7
Solve x and y. 
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Q8
Simplify as a rational expression in the lowest term    
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Section C:
5 marks
(Not in CBSE pattern)
Q9
The HCF and LCM  of two polynomials p(x) and q(x) are 5(x+3)(x-1) and
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find q(x).

Q10
In a bag containing only white and black balls, half the number o white balls is equal to one third of the number of black balls. Twice the total number of balls exceeds three times the number of black balls by 4. How many balls of each type does the bag contain?
OR
A train overtakes two persons who are walking in the same direction in which the train is going, at the speed of 2 km/hr and 4 km/hr and passes them completely in 9 and 10 seconds respectively. Find the length and speed of train. 
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